Efficiency vs P,

10.02
o
9.018
>
$.016
] E
D.014F
) C
0.012F
0.01F
0.008E
0.006F
0.004F
0.002F
L0F

Ratio

Efficiency vs ¢

9-0.02_:
018F
016
.014F
a012j

0.01F
0.008f:
0.006F: : :
0.00af 421 L 34T 41
0.002E-

Ofr
L2 7

Ratio

etjcIgnCyys

..........................................

........................................

................................................

................................................

1.1k

it

1(;’1 1 10 prT (Ge\})o3

—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mKFit_TT_base_8iter_noSel_ok
—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

..................................

..........

Y-

0.8l




	Contents
	Page 1


